NOTES ON FOURIER ANALYSIS (XVID:
THE INTEGRATED LIPSCHITZ CONDITION OF
A FUNCTION AND FEJER MEAN OF FOURIER SERIES.®

By
Sigeki Yano.

I. Let f(x) be a function of period 27 satisfying the intgrated Lipschitz
condition Lip (a, p) (0<a§1,‘ p=1), that is

27 » 1/p
(1.1) (f ’f(x+t)—f(x)|dx>=0(t“),
0
and let its Fouries seies be
(1.2) S~ ao/2+2(an cos nx-+by, sin nx).
n=1

If fe Lip(a, p) (0<a<l, p=1) and o(x, f)=cx(x) denotes the Fejér
mean of (1. 2), then it will be easily seen that?

13 ([ teor—aucsfax) 2o,
0
This does not hold generally for a=1, p=1,.but we have
a4 le(x)~a'n,(.7«f)]az':\::O(n'1 log n).
This will be seennby the following example. If we put
(15) A= Z ShmE_TA o (0ma<2m,

then f(x) belongs to Lip(1. 1)®. Noyv
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